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A SEFTAEE B rRAaTSELE C RApLESHE D. BEA 7o A b B A
6. “| x| <27 B — 227 ( ).
A SEFTAEE B rRAaFSELH C RpLESHE D. BB 7o A b B A
7.3% a b, c €R M “ac=b"" 2" a,b,c & WHF|"H( ).

A SEF T E B rRAaTLELH C RApLESFHE D. BE A 7 1 b R
8. 1% a.b,cER, M “a=>b"&"“ac* >bc" "ty ( ).

%ET?@%K% B. ma A b B4 C o B4 0 D. BB 7 0 1 b
9. “x>0"Z“x>1" 1 ( ).

A REFTAEE B rRAaTLELH C RApLESFHE D. BEA 7o A b B A

10. &4 A={0,1},B={—1,0}, Il AUB=( ).
C

NI

AT B. {0} S {—1,0,1} D. (0,1}
Z . BIEER
1. T3t & 66 41 R A1 2 ( ).
A 2R B 5K H B. A F 3 W F1H ¥
C.oraZEAKEZNR D. X5 BRI R
2. THIREAERARENZ( ).

z|x<<50,2EN} B. {0} C.{x|z*—1=0) D. {x]0<<x<<2}
3. T 7| 4 FL IE # 1 Z ( ).
A JUA B. JCA C.ACA D.AUA
4. T 7| 4 AL IE 7 1Y 2 ( ).
A.2.2€Q B.n€Q C.0EN D.0&7Z
5. THiE K E#HH Z( ).
A. AUB=BUA B.ANB=BNA C.Css=g D. Css=s
6. %6 A={m—1,2,m* =1} ¥ m T G I EEZ( ).
A0 B.1 C.2 D.3
7. %536 {a— 1,25 +1} 0 = By 1E 68 & ( ).
A4 B. 1 C. /2 D. 0
8. EAA={(xsy) | y=a+2}, | A TEA( ).
A.0 B.2 C. (0,2) D. (2,4)
9. &4 N={1,2,3}, M T 7| % K sx L 8 & ( ).
A.N€E1 B.2CN C.3EN D.0¢N
10. 84 A={(1,3,2+2},B={1,2"} , 5 ANB={1,4}, N x ¥ By {H 2 ( ).
A. 0 B. 1 C.2 D.3
= EE=H

1l.eam&E4s A={1,2,3},B={1,a} AUB=1{1,2,3.4}, 1] a=

2. % &4 A={1,3,5}.B={3,6,9}, Ml ANB=__
3.k EA A={1,2,3},B=1{4,5,6}, ] ANB=

4. % &4 A={0,1,2,3},B={—1,0,1}, 0] AUB=

5. %A A={a,b},B={b,c}, ] ANB=
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